# Inequalities for Certain Ratios <br> involving the ( $p, k$ )-Analogue of the Gamma Function 

Research Article

Kwara Nantomah<br>Department of Mathematics, University for Development Studies, Navrongo Campus, P.O. Box 24, Navrongo, UE/R, Ghana<br>knantomah@uds.edu.gh


#### Abstract

Recently, a ( $p, k$ )-analogue of the classical Gamma function was introduced and investigated. In this paper, we establish some inequalities for certain ratios involving the new analogue. The method is based on the monotonicity properties of some functions associated the ( $p, k$ )-Gamma function.


Keywords. Gamma function; ( $p, k$ )-analogue; Inequality
MSC. 33B15; 26D07; 26D15
Received: June 10, $2016 \quad$ Accepted: September 3, 2016
Copyright © 2016 Kwara Nantomah. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

## 1. Introduction

This paper is inspired by the recent paper [13], where the authors introduced and investigated a ( $p, k$ )-analogue of the Gamma function. In this paper, our objective is to establish inequalities for certain ratios involving the ( $p, k$ )-Gamma function. We begin by recalling the following definitions pertaining to our results.

The classical Euler's Gamma function, $\Gamma(x)$ may be defined for $x>0$ by

$$
\Gamma(x)=\int_{0}^{\infty} t^{x-1} e^{-t} d x=\lim _{n \rightarrow \infty} \frac{n!n^{x}}{x(x+1)(x+2) \ldots(x+n)}
$$

satisfying the basic properties:

$$
\Gamma(n+1)=n!, \quad n \in \mathbb{Z}^{+} \cup\{0\},
$$

$$
\Gamma(x+1)=x \Gamma(x), \quad x \in \mathbb{R}^{+} .
$$

Closely associated with the Gamma function is the Digamma or Psi function $\psi(x)$, which is defined for $x>0$ as the logarithmic derivative of the Gamma function. That is,

$$
\begin{align*}
\psi(x) & =\frac{d}{d x} \ln \Gamma(x)=\frac{\Gamma^{\prime}(x)}{\Gamma(x)} \\
& =-\gamma+(x-1) \sum_{n=0}^{\infty} \frac{1}{(n+1)(n+x)} \\
& =-\gamma-\frac{1}{x}+\sum_{n=1}^{\infty} \frac{x}{n(n+x)} \tag{1.1}
\end{align*}
$$

where $\gamma=\lim _{n \rightarrow \infty}\left(\sum_{k=1}^{n} \frac{1}{k}-\ln n\right)=0.577215664 \ldots$ is the Euler-Mascheroni's constant.
The $p$-analogue (also known as $p$-generalization, $p$-extension or $p$-deformation) of the Gamma function is defined for $p \in \mathbb{N}$ and $x>0$ as

$$
\Gamma_{p}(x)=\frac{p!p^{x}}{x(x+1) \ldots(x+p)}
$$

where $\lim _{p \rightarrow \infty} \Gamma_{p}(x)=\Gamma(x)$ (see [1, p. 270]). It satisfies the identities:

$$
\begin{aligned}
\Gamma_{p}(x+1) & =\frac{p x}{x+p+1} \Gamma_{p}(x), \\
\Gamma_{p}(1) & =\frac{p}{p+1} .
\end{aligned}
$$

The $p$-analogue of the Digamma function is defined for $x>0$ as

$$
\begin{equation*}
\psi_{p}(x)=\frac{d}{d x} \ln \Gamma_{p}(x)=\frac{\Gamma_{p}^{\prime}(x)}{\Gamma_{p}(x)}=\ln p-\sum_{n=0}^{p} \frac{1}{n+x} . \tag{1.2}
\end{equation*}
$$

In 2007, Díaz and Pariguan [2] also defined the $k$-analogue of the Gamma function for $k>0$ and $x \in \mathbb{C} \backslash k \mathbb{Z}^{-}$as

$$
\Gamma_{k}(x)=\int_{0}^{\infty} t^{x-1} e^{-\frac{t^{k}}{k}} d t=\lim _{n \rightarrow \infty} \frac{n!k^{n}(n k)^{\frac{x}{k}-1}}{(x)_{n, k}}
$$

where $\lim _{k \rightarrow 1} \Gamma_{k}(x)=\Gamma(x)$ and $(x)_{n, k}=x(x+k)(x+2 k) \ldots(x+(n-1) k)$ is the Pochhammer $k$-symbol. It also satisfies the identities:

$$
\begin{aligned}
\Gamma_{k}(x+k) & =x \Gamma_{k}(x), \quad x \in R^{+} \\
\Gamma_{k}(k) & =1
\end{aligned}
$$

The $k$-analogue of the Digamma function is also defined for $x>0$ as

$$
\begin{equation*}
\psi_{k}(x)=\frac{d}{d x} \ln \Gamma_{k}(x)=\frac{\Gamma_{k}^{\prime}(x)}{\Gamma_{k}(x)}=\frac{\ln k-\gamma}{k}-\frac{1}{x}+\sum_{n=1}^{\infty} \frac{x}{n k(n k+x)} . \tag{1.3}
\end{equation*}
$$

Then in the recent paper [13], the authors introduced a ( $p, k$ )-analogue of the Gamma function, defined for $p \in \mathbb{N}, k>0$ and $x>0$ as

$$
\begin{aligned}
\Gamma_{p, k}(x) & =\int_{0}^{p} t^{x-1}\left(1-\frac{t^{k}}{p k}\right)^{p} d t \\
& =\frac{(p+1)!k^{p+1}(p k)^{\frac{x}{k}-1}}{x(x+k)(x+2 k) \ldots(x+p k)}
\end{aligned}
$$

satisfying the identities:

$$
\begin{aligned}
\Gamma_{p, k}(x+k) & =\frac{p k x}{x+p k+k} \Gamma_{p, k}(x), \\
\Gamma_{p, k}(a k) & =\frac{p+1}{p} k^{a-1} \Gamma_{p}(a), \quad a \in \mathbb{R}^{+}, \\
\Gamma_{p, k}(k) & =1 .
\end{aligned}
$$

Similarly, the ( $p, k$ )-analogue of the Digamma function is defined as the logarithmic derivative of the function $\Gamma_{p, k}(x)$. That is

$$
\begin{align*}
\psi_{p, k}(x) & =\frac{d}{d x} \ln \Gamma_{p, k}(x)=\frac{\Gamma_{p, k}^{\prime}(x)}{\Gamma_{p, k}(x)} \\
& =\frac{1}{k} \ln (p k)-\sum_{n=0}^{p} \frac{1}{(n k+x)}  \tag{1.4}\\
& =\frac{1}{k} \ln (p k)-\int_{0}^{\infty} \frac{1-e^{-k(p+1) t}}{1-e^{-k t}} e^{-x t} d t .
\end{align*}
$$

The functions $\Gamma_{p, k}(x)$ and $\psi_{p, k}(x)$ satisfy the following commutative diagrams.


Moreover, $\psi_{p, k}(x)$ is increasing for $x>0$ since $\psi_{p, k}^{\prime}(x)=\sum_{n=0}^{p} \frac{1}{(n k+x)^{2}}>0$.

## 2. Main Results

Let us begin with the following Lemmas, which will be used in the sequel.
Lemma 2.1. Let $\alpha>0, \beta>0, a>0, b>0, p \in \mathbb{N}$ and $k>0$. Then,

$$
\begin{equation*}
a \gamma+\frac{b}{k} \ln (p k)+\frac{a}{\alpha+\beta x}+a \psi(\alpha+\beta x)-b \psi_{p, k}(\alpha+\beta x)>0 . \tag{2.1}
\end{equation*}
$$

Proof. Let $x>0$. Then from (1.1) and (1.4), we obtain

$$
a \gamma+\frac{b}{k} \ln (p k)+\frac{a}{x}+a \psi(x)-b \psi_{p, k}(x)=a \sum_{n=1}^{\infty} \frac{x}{n(n+x)}+b \sum_{n=0}^{p} \frac{1}{n k+x}>0 .
$$

Then, replacing $x$ by $\alpha+\beta x$ completes the proof.
Lemma 2.2. Let $\alpha>0, \beta>0, a \geq b>0, p \in \mathbb{N}$ and $k \geq 1$. Then,

$$
\begin{equation*}
-a \ln p+\frac{b}{k} \ln (p k)+a \psi_{p}(\alpha+\beta x)-b \psi_{p, k}(\alpha+\beta x) \leq 0 . \tag{2.2}
\end{equation*}
$$

Proof. Let $x>0$. Then from (1.2) and (1.4), we obtain

$$
-a \ln p+\frac{b}{k} \ln (p k)+a \psi_{p}(x)-b \psi_{p, k}(x)=b \sum_{n=0}^{p} \frac{1}{n k+x}-a \sum_{n=0}^{p} \frac{1}{n+x} \leq 0 .
$$

Then, replacing $x$ by $\alpha+\beta x$ completes the proof.
Lemma 2.3. Let $\alpha>0, \beta>0, a>0, b>0, p \in \mathbb{N}$ and $k>0$. Then,

$$
\begin{equation*}
-\frac{a}{k} \ln k+\frac{a \gamma}{k}+\frac{b}{k} \ln (p k)+\frac{a}{\alpha+\beta x}+a \psi_{k}(\alpha+\beta x)-b \psi_{p, k}(\alpha+\beta x)>0 . \tag{2.3}
\end{equation*}
$$

Proof. Let $x>0$. Then from (1.3) and (1.4), we obtain

$$
-\frac{a}{k} \ln k+\frac{a \gamma}{k}+\frac{b}{k} \ln (p k)+\frac{a}{x}+a \psi_{k}(x)-b \psi_{p, k}(x)=a \sum_{n=1}^{\infty} \frac{x}{n k(n k+x)}+b \sum_{n=0}^{p} \frac{1}{n k+x}>0 .
$$

Then, replacing $x$ by $\alpha+\beta x$ completes the proof.
Lemma 2.4. Let $\alpha, \beta, \lambda, \delta, a$ and $b$ be positive real numbers such that $b \delta \geq a \beta$ and $\alpha+\beta x \leq \lambda+\delta x$. For $p \in \mathbb{N}$ and $k>0$, if either:
(i) $\psi_{p, k}(\alpha+\beta x)>0$ or
(ii) $\psi_{p, k}(\lambda+\delta x)>0$,
then, $a \beta \psi_{p, k}(\alpha+\beta x)-b \delta \psi_{p, k}(\lambda+\delta x) \leq 0$.
Proof. (i) Let $\psi_{p, k}(\alpha+\beta x)>0$. Then, since $\psi_{p, k}(x)$ is increasing for $x>0$, we have

$$
\psi_{p, k}(\lambda+\delta x) \geq \psi_{p, k}(\alpha+\beta x)>0 .
$$

This together with the fact that $b \delta \geq a \beta>0$ yields

$$
b \delta \psi_{p, k}(\lambda+\delta x) \geq a \beta \psi_{p, k}(\lambda+\delta x) \geq a \beta \psi_{p, k}(\alpha+\beta x) .
$$

Thus $a \beta \psi_{p, k}(\alpha+\beta x)-b \delta \psi_{p, k}(\lambda+\delta x) \leq 0$.
(ii) Let $\psi_{p, k}(\lambda+\delta x)>0$. Then, there two possible values of $\psi_{p, k}(\alpha+\beta x)$. That is, either $\psi_{p, k}(\alpha+$ $\beta x) \leq 0$ or $\psi_{p, k}(\alpha+\beta x)>0$. If $\psi_{p, k}(\alpha+\beta x) \leq 0$, then $a \beta \psi_{p, k}(\alpha+\beta x) \leq 0$ and $a \delta \psi_{p, k}(\lambda+\delta x)>0$ yielding $a \beta \psi_{p, k}(\alpha+\beta x)-b \delta \psi_{p, k}(\lambda+\delta x) \leq 0$ as required. If $\psi_{p, k}(\alpha+\beta x)>0$, then the procedure coincides with (i) above.

Theorem 2.1. Define a function $F$ for $x \in(0, \infty), p \in \mathbb{N}$ and $k>0$ by

$$
F(x)=\frac{e^{a \beta \gamma x}(\alpha+\beta x)^{a} \Gamma(\alpha+\beta x)^{a}}{(p k)^{-\frac{b \beta x}{k}} \Gamma_{p, k}(\alpha+\beta x)^{b}}
$$

where $a, b, \alpha, \beta$ are positive real numbers. Then $F$ is increasing on $x \in(0, \infty)$ and the inequality

$$
\begin{align*}
\left(\frac{\alpha}{\alpha+\beta x}\right)^{a} \frac{e^{-a \beta \gamma x}}{(p k)^{\frac{b \beta x}{k}}} \frac{\Gamma(\alpha)^{a}}{\Gamma_{p, k}(\alpha)^{b}} & <\frac{\Gamma(\alpha+\beta x)^{a}}{\Gamma_{p, k}(\alpha+\beta x)^{b}} \\
& <\left(\frac{\alpha+\beta}{\alpha+\beta x}\right)^{a} \frac{e^{a \beta \gamma(1-x)}}{(p k)^{\frac{b \beta}{k}(x-1)}} \frac{\Gamma(\alpha+\beta)^{a}}{\Gamma_{p, k}(\alpha+\beta)^{b}} \tag{2.4}
\end{align*}
$$

is valid for $x \in(0,1)$.
Proof. Let $f(x)=\ln F(t)$ for $x \in(0, \infty)$. That is,

$$
f(x)=a \beta \gamma x+\frac{b \beta x}{k} \ln (p k)+a \ln (\alpha+\beta x)+a \ln \Gamma(\alpha+\beta x)-b \ln \Gamma_{p, k}(\alpha+\beta x) .
$$

Then,

$$
\begin{aligned}
f^{\prime}(x) & =\alpha \beta \gamma+\frac{b \beta}{k} \ln (p k)+\frac{a \beta}{\alpha+\beta x}+a \beta \psi(\alpha+\beta x)-b \beta \psi_{p, k}(\alpha+\beta x) \\
& =\beta\left[a \gamma+\frac{b}{k} \ln (p k)+\frac{a}{\alpha+\beta x}+a \psi(\alpha+\beta x)-b \psi_{p, k}(\alpha+\beta x)\right]>0
\end{aligned}
$$

as a result of Lemma 2.1. That implies $f$ is increasing on $x \in(0, \infty)$. Thus, $F$ is also increasing and for $x \in(0,1)$ we have,

$$
F(0)<F(x)<F(1)
$$

yielding the result (2.4).
Theorem 2.2. Define a function $G$ for $x \in(0, \infty), p \in \mathbb{N}$ and $k \geq 1$ by

$$
G(x)=\frac{(p k)^{\frac{b \beta x}{k}} \Gamma_{p}(\alpha+\beta x)^{a}}{p^{a \beta x} \Gamma_{p, k}(\alpha+\beta x)^{b}},
$$

where $a, b, \alpha, \beta$ are positive real numbers such that $a \geq b$. Then $G$ is decreasing on $x \in(0, \infty)$ and the inequality

$$
\begin{align*}
\frac{p^{a \beta(x-1)}}{(p k)^{\frac{b p}{k}(x-1)}} \frac{\Gamma(\alpha+\beta)^{a}}{\Gamma_{p, k}(\alpha+\beta)^{b}} & \leq \frac{\Gamma_{p}(\alpha+\beta x)^{a}}{\Gamma_{p, k}(\alpha+\beta x)^{b}} \\
& \leq \frac{p^{a \beta x}}{(p k)^{\frac{b \beta k}{k}}} \frac{\Gamma(\alpha)^{a}}{\Gamma_{p, k}(\alpha)^{b}} \tag{2.5}
\end{align*}
$$

is valid for $x \in(0,1)$, with equality when $a=b$ and $k=1$.

Proof. Let $g(x)=\ln G(t)$ for $x \in(0, \infty)$. That is,

$$
g(x)=-a \beta x \ln p+\frac{b \beta x}{k} \ln (p k)+a \ln \Gamma_{p}(\alpha+\beta x)-b \ln \Gamma_{p, k}(\alpha+\beta x) .
$$

Then,

$$
\begin{aligned}
g^{\prime}(x) & =-a \beta \ln p+\frac{b \beta}{k} \ln (p k)+a \beta \psi_{p}(\alpha+\beta x)-b \beta \psi_{p, k}(\alpha+\beta x) \\
& =\beta\left[-a \ln p+\frac{b}{k} \ln (p k)+a \psi_{p}(\alpha+\beta x)-b \psi_{p, k}(\alpha+\beta x)\right] \leq 0
\end{aligned}
$$

as a result of Lemma 2.2. Thus, $G$ is decreasing and for $x \in(0,1)$ we have,

$$
G(1) \leq G(x) \leq G(0)
$$

yielding the result (2.5).
Theorem 2.3. Define a function $H$ for $x \in(0, \infty), p \in \mathbb{N}$ and $k>0$ by

$$
H(x)=\frac{e^{\frac{a \beta \gamma x}{k}}(\alpha+\beta x)^{a} \Gamma_{k}(\alpha+\beta x)^{a}}{k^{\frac{a \beta x}{k}}(p k)^{-\frac{b \beta x}{k}} \Gamma_{p, k}(\alpha+\beta x)^{b}},
$$

where $a, b, \alpha, \beta$ are positive real numbers. Then $H$ is increasing on $x \in(0, \infty)$ and the inequality

$$
\begin{align*}
\left(\frac{\alpha}{\alpha+\beta x}\right)^{a} \frac{k^{\frac{a \beta x}{k}}}{e^{\frac{a \beta \gamma x}{k}}(p k)^{\frac{b \beta x x}{k}}} \frac{\Gamma_{k}(\alpha)^{a}}{\Gamma_{p, k}(\alpha)^{b}} & <\frac{\Gamma_{k}(\alpha+\beta x)^{a}}{\Gamma_{p, k}(\alpha+\beta x)^{b}} \\
& <\left(\frac{\alpha+\beta}{\alpha+\beta x}\right)^{a} \frac{k^{\frac{a \beta}{k}(x-1)}}{e^{\frac{a \beta \gamma}{k}(x-1)}(p k)^{\frac{b \beta}{k}(x-1)}} \frac{\Gamma_{k}(\alpha+\beta)^{a}}{\Gamma_{p, k}(\alpha+\beta)^{b}} \tag{2.6}
\end{align*}
$$

is valid for $x \in(0,1)$.
Proof. Let $h(x)=\ln H(t)$ for $x \in(0, \infty)$. That is,

$$
h(x)=-\frac{a \beta x}{k} \ln k+\frac{a \beta \gamma x}{k}+\frac{b \beta x}{k} \ln (p k)+a \ln (\alpha+\beta x)+a \ln \Gamma_{k}(\alpha+\beta x)-b \ln \Gamma_{p, k}(\alpha+\beta x) .
$$

Then,

$$
\begin{aligned}
h^{\prime}(x) & =-\frac{a \beta}{k} \ln k+\frac{a \beta \gamma}{k}+\frac{b \beta}{k} \ln (p k)+\frac{a \beta}{\alpha+\beta x}+a \beta \psi_{k}(\alpha+\beta x)-b \beta \psi_{p, k}(\alpha+\beta x) \\
& =\beta\left[-\frac{a}{k} \ln k+\frac{a \gamma}{k}+\frac{b}{k} \ln (p k)+\frac{a}{\alpha+\beta x}+a \psi_{k}(\alpha+\beta x)-b \psi_{p, k}(\alpha+\beta x)\right] \\
& >0
\end{aligned}
$$

as a result of Lemma 2.3. Thus, $H$ is increasing and for $x \in(0,1)$ we have,

$$
H(0)<H(x)<H(1)
$$

yielding the result 2.6.

Remark 2.1. Let $a=b=\beta=1$ and $k \rightarrow 1$ in either (2.4) or (2.6), then we obtain

$$
\begin{equation*}
\left(\frac{\alpha}{\alpha+x}\right) \frac{e^{-\gamma x}}{p^{x}} \frac{\Gamma(\alpha)}{\Gamma_{p}(\alpha)}<\frac{\Gamma(\alpha+x)}{\Gamma_{p}(\alpha+x)}<\left(\frac{\alpha+1}{\alpha+x}\right) \frac{e^{\gamma(1-x)}}{p^{(x-1)}} \frac{\Gamma(\alpha+1)}{\Gamma_{p}(\alpha+1)} \tag{2.7}
\end{equation*}
$$

which is weaker than the results:

$$
\begin{equation*}
\frac{e^{-\gamma x}}{p^{x}} \frac{\Gamma(\alpha)}{\Gamma_{p}(\alpha)}<\frac{\Gamma(\alpha+x)}{\Gamma_{p}(\alpha+x)}<\frac{e^{\gamma(1-x)}}{p^{(x-1)}} \frac{\Gamma(\alpha+1)}{\Gamma_{p}(\alpha+1)} \tag{2.8}
\end{equation*}
$$

obtained by Krasniqi and Shabani in Theorem 3.3 of [4].
Remark 2.2. Inequalities of type (2.4), (2.5) and (2.6) have been investigated intensively in the papers [5], [6], [8], [9], [10], [11] and [12].

Theorem 2.4. Define a function $T$ for $x \in[0, \infty), p \in \mathbb{N}$ and $k>0$ by

$$
T(x)=\frac{\Gamma_{p, k}(\alpha+\beta x)^{a}}{\Gamma_{p, k}(\lambda+\delta x)^{b}}
$$

where $\alpha, \beta, \lambda, \delta, a$ and $b$ are positive real numbers such that $\alpha+\beta x \leq \lambda+\delta x, a \beta \leq b \delta$ and either $\psi_{p, k}(\alpha+\beta x)>0$ or $\psi_{p, k}(\lambda+\delta x)>0$. Then $T$ is decreasing and the inequality

$$
\begin{equation*}
\frac{\Gamma_{p, k}(\alpha+\beta)^{a}}{\Gamma_{p, k}(\lambda+\delta)^{b}} \leq \frac{\Gamma_{p, k}(\alpha+\beta x)^{a}}{\Gamma_{p, k}(\lambda+\delta x)^{b}} \leq \frac{\Gamma_{p, k}(\alpha)^{a}}{\Gamma_{p, k}(\lambda)^{b}} \tag{2.9}
\end{equation*}
$$

is valid for $x \in[0,1]$.
Proof. Let $u(x)=\ln T(x)$ for $x \in[0, \infty)$. That is,

$$
u(x)=a \ln \Gamma_{p, k}(\alpha+\beta x)-b \ln \Gamma_{p, k}(\lambda+\delta x)
$$

Then,

$$
\begin{aligned}
u^{\prime}(x) & =a \beta \frac{\Gamma_{p, k}^{\prime}(\alpha+\beta x)}{\Gamma_{p, k}(\alpha+\beta x)}-b \delta \frac{\Gamma_{p, k}^{\prime}(\lambda+\delta x)}{\Gamma_{p, k}(\lambda+\delta x)} \\
& =a \beta \psi_{p, k}(\alpha+\beta x)-b \delta \psi_{p, k}(\lambda+\delta x) \leq 0
\end{aligned}
$$

by Lemma 2.4. That implies $u$ is decreasing. Consequently, $T$ is also decreasing and for $x \in[0,1]$ we have,

$$
T(1) \leq T(x) \leq T(0)
$$

yielding the result (2.9).
Remark 2.3. Let $k \rightarrow 1$ in Theorem 2.4, then we obtain the results for the $p$-analogue as presented in Theorem 3.9 of [4].

Remark 2.4. Let $p \rightarrow \infty$ in Theorem 2.4, then we obtain the results for the $k$-analogue as presented in Theorem 3.3 of [7].
Remark 2.5. Let $p \rightarrow \infty$ as $k \rightarrow 1$ in Theorem 2.4, then we obtain the results of Theorem 2 of [3].

## 3. Conclusion

By using some basic analytical techniques, we established some inequalities for certain ratios involving the ( $p, k$ )-analogue of the Gamma function, which was recently introduced in [13]. The results provide generalizations of some previous results.

## Competing Interests

The author declares that he has no competing interests.

## Authors' Contributions

The author wrote, read and approved the final manuscript.

## References

[1] T. M. Apostol, Introduction to Analytic Number Theory, Springer-Verlag (1976).
[2] R. Díaz and E. Pariguan, On hypergeometric functions and Pachhammer $k$-symbol, Divulgaciones Matemtícas 15 (2) (2007), 179-192.
[3] A.Sh. Shabani, Generalization of some inequalities for the Gamma Function, Mathematical Communications 13 (2008), 271-275.
[4] V. Krasniqi and A.S. Shabani, Convexity properties and inequalities for a generalized Gamma function, Applied Mathematics E-Notes 10 (2010), 27-35.
[5] K. Nantomah, On certain inequalities concerning the classical Euler's Gamma function, Advances in Inequalities and Applications 2014 (2014), Article ID 42.
[6] K. Nantomah, Generalized inequalities related to the classical Euler's Gamma function, Turkish Journal of Analysis and Number Theory 2 (6) (2014), 226-229.
[7] K. Nantomah and M.M. Iddrisu, The $k$-analogue of some inequalities for the Gamma function, Electron. J. Math. Anal. Appl. 2 (2) (2014), 172-177.
[8] K. Nantomah and M.M. Iddrisu, Some inequalities involving the ratio of Gamma functions, RGMIA Res. Rep. Coll. 19 (2016), Article 20.
[9] K. Nantomah, M.M. Iddrisu and E. Prempeh, Generalization of some inequalities for the ratio of Gamma functions, RGMIA Res. Rep. Coll. 19 (2016), Article 40.
[10] K. Nantomah and E. Prempeh, Generalizations of some inequalities for the $p$-Gamma, $q$-Gamma and $k$-Gamma functions, Electron. J. Math. Anal. Appl. 3 (1) (2015), 158-163.
[11] K. Nantomah and E. Prempeh, Some sharp inequalities for the ratio of Gamma functions, Math Aeterna 4 (5) (2014), 501-507.
[12] K. Nantomah and E. Prempeh, Generalizations of some sharp inequalities for the ratio of Gamma functions, Math. Aeterna 4 (5) (2014), 539-544.
[13] K. Nantomah, E. Prempeh and S.B. Twum, On a $(p, k)$-analogue of the Gamma function and some associated inequalities, Moroccan Journal of Pure and Applied Analysis 2 (2) (2016), 79-90.

